College Algebra — Joysheet 5 Name: M QE’-‘;“
MAT 140, Spring 2021 — D. Ivansié Covers: 2.1, 2.2, 2.8 Show all your work!

1. (10pts) Use your calculator to accurately sketch the graph of the function

flz) = dz+5
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below with accuracy 6 decimal points.

a) Find the local maxima and minima for this function.

b) State the intervals where the function is increasing and where it is decreasing.
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Draw the graph here, indicate units on the axes, and solve the problems
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2. (20pts) Let f(z) = %, glx) = % Find the following (simplify where puss;-ble}:‘zr?
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3. (8pts) Consider the function h(z) = (2% — 4)® and find two different solutions to the
following problem: find functions f and g so that h(z) = f(g(x)), where neither f nor g are

the identity function. " %
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4. (8pts) Sketch the graph of the

piecewise-defined function: ‘\,T\
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5. (14pts) A county health department is setting up COVID-19 vaccination and testing
bays inside an arena. Each block of ten bays must have total area 2000 square feet. It wishes
to minimize construction cost, which is same as minimizing the total length of the walls.

a) Express the total length of the walls of the building as a function of the length of one of
the sides x. What is the domain of this function?

b) Graph the function in order to find the minimum. What are the dimensions of the block
for which the total length of the walls is minimal? What is the minimal wall length?
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